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Corrections 
Change 1 /  Test Case 7.2.3.10
	Function name
	fl_EUTRA_7_2_3_10_TestBody ()

	Reason for change
	When multiple timed events are used which are dependent on each other one absolute timestamp should be used. This absolute timestamp is retrieved by f_EUTRA_GetNextSendOccasion. Later time calculations should be done on the received timing information in peer messages or SYS_IND from the UE.

This ensures to send data/do configurations in a timeline which is absolute and not dependent on time retrieval during test case run.

	Summary of change
	Replace the usage of f_EUTRA_GetNextSendOccasion by a calculation based on prior received timing information.

	TTCN module
	RLC_AM_Testcases.ttcn 

	MCC160 Comment
	


Before:

	function fl_EUTRA_7_2_3_10_TestBody(inout RLC_SS_State p_RLC_Rec)
  runs on EUTRA_PTC
{ // @sic R5-102147 sic@ @sic R5s100116 sic@ @sic R5s100142 sic@ @sic R5-103803 sic@ @sic R5s100224 sic@
  // @sic R5s100279 sic@ @sic R5-105016 sic@
  var integer i;
  var RLC_DataField_Type v_RLC_Data1;
  var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;
  var integer v_Duration;
  var SubFrameTiming_Type v_Timing;
  var SubFrameTiming_Type v_SubFrameTimingTa;
  var SubFrameTiming_Type v_SubFrameTimingTb;
  var SubFrameTiming_Type v_SubFrameTimingTc;
  var SubFrameTiming_Type v_SubFrameTimingT1;
  var SubFrameTiming_Type v_SubFrameTimingT2;
  var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode ;
  var integer v_Subframe := 0;
  var DRB_COMMON_IND v_ReceivedAsp;
  var SYSTEM_IND v_ReceivedSysAsp;
  var template (value) RLC_Status_NACK_List_Type v_NACK_List;
  var template (present) RLC_Status_Padding_Type v_Padding_1bit_Any := '?'B;
  var template (present) RLC_Status_Padding_Type v_Padding_5bits_Any := '?????'B;
  timer t_WatchDog := 5.0;
  //PDCP SDUs of this size will be built, appended to a PDCP header,
  //and then used as RLC SDUs
  p_RLC_Rec.TxDataSize := 98;
  // determine RAT to make the timing correct later on
  v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);
  // generate 12 RLC SDUs = PDCP PDUs for transmission
  for (i := 0; i < 12; i:= i + 1) {
    f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data
    v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12), p_RLC_Rec.RLC_Data);
    p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));
    p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);
  }
  //@siclog "Step 0" siclog@
  // The SS stops the UL grant transmission.
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 1" siclog@
  // The SS transmits 4 AMD PDUs with SN=0, 1, 2, and 4 on DRB1.
  // The SS sets the P field of all the AMD PDUs to 0. Record time TA when the AMD PDU with SN=4 is sent.
  //wait for 100ms for sync both in case of FDD and TDD
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU2);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU3);
  p_RLC_Rec.AM_VTS := 4;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU5);
  v_SubFrameTimingTa := v_Timing;
  v_SubFrameTimingTa.Subframe.Number := v_Subframe;
  //@siclog "Step 1A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants (UL grant allocation type 2) of size 840 bits.
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                            15, 3, 1, 3);  // Imcs = 15 -> Itbs = 14
  //@siclog "Step 1B" siclog@
  // The UE transmits RLC SDU#1.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU1);
  //@siclog "Step 1C" siclog@
  // The UE transmits RLC SDU#2.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU2);
  //@siclog "Step 1D" siclog@
  // The UE transmits RLC SDU#3.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);
  //@siclog "Step 1E" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 1F" siclog@
  // The SS starts the UL default grant transmission
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1,cs_TimingInfo_Now);
  //@siclog "Step 2" siclog@
  // Check 1: Does the UE transmit a Status Report with NACK_SN=3 and ACK_SN=5?
  // Record time TB
  // Check 2: (TB - TA) = t_Reordering
  p_RLC_Rec.AM_VTA := 5;
  v_NACK_List := cr_NACK_List (3, tsc_E2_NoSO_Follows, omit);
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                                 v_NACK_List,
                                                                 v_Padding_5bits_Any ))) -> value v_ReceivedAsp
        {
          v_SubFrameTimingTb := v_ReceivedAsp.Common.TimingInfo.SubFrame;
          v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTa, v_SubFrameTimingTb);
          if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )
            {
              f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 2");
            }
          else
            {
              f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2");
            };
          t_WatchDog.stop;
        }
    [] t_WatchDog.timeout
      {
        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 2");
      }
    } // alt
  //@siclog "Step 3" siclog@
  // 100 ms after the Status Report is received at Step 2, the SS transmits 4 AMD PDUs with SN=5, 6, 8 and 9 on DRB 1.
  // The SS sets the P field of all the AMD PDUs to 0.
  v_Timing := v_SubFrameTimingTb;
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 100);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU6);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU7);
  p_RLC_Rec.AM_VTS := 8;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU9);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU10);
  //@siclog "Step 3A void" siclog@
  //@siclog "Step 3B" siclog@
  // Check 1: Does the UE transmit a Status Report with NACK_SN=3, ACK_SN=7?
  // Record time TC
  // Check 2: (TC - TB) = t_StatusProhibit
  p_RLC_Rec.AM_VTA := 7;
  v_NACK_List := cr_NACK_List (3,
                               tsc_E2_NoSO_Follows,
                               omit);
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                                 v_NACK_List,
                                                                 v_Padding_5bits_Any ))) -> value v_ReceivedAsp  // @sic R5s100386 sic@
        {
          v_SubFrameTimingTc := v_ReceivedAsp.Common.TimingInfo.SubFrame;
          v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTb, v_SubFrameTimingTc);
          if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )
            {
              f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 3A");
            }
          else
            {
              f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 3A");
            };
          t_WatchDog.stop;
        }
      [] t_WatchDog.timeout
        {
          f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 3A");
        }
    } // alt
  //@siclog "Step 3C void" siclog@
  //@siclog "Step 4" siclog@
  // Check: does the UE transmit a Status Report with NACK_SN=3, NACK_SN=7 and ACK_SN=10?
  // This will happen after t_StatusProhibit which has already been checked
  p_RLC_Rec.AM_VTA := 10;
  v_NACK_List := cr_NACK_List_2NACKs(3,
                                     tsc_E2_NoSO_Follows,
                                     omit,
                                     7,
                                     tsc_E2_NoSO_Follows,
                                     omit);
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
  {
    [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                           cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                               v_NACK_List,
                                                               v_Padding_1bit_Any ))) -> value v_ReceivedAsp
      {
        t_WatchDog.stop;
      }
    [] t_WatchDog.timeout
      {
        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 4");
      }
  } // alt
  //@siclog "Step 4A" siclog@
  // The SS stops the UL default grant transmission
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );
  //@siclog "Step 5 void" siclog@
  //@siclog "Step 6" siclog@
  // After 300 ms the SS transmits 3 AMD PDUs with SN=3 and SN=7 on DRB 1.
  // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.
  // t-StatusProhibit = 300 ms => 30 frames
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);
  p_RLC_Rec.AM_VTS := 3;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU4);
  p_RLC_Rec.AM_VTS := 7;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_Poll,
               tsc_RLC_SDU8);
  //@siclog "Step 6A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.
  // v_Timing.Subframe.Number of 4 is valid for UL grant transmission
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                                 3, 1);
  //@siclog "Step 7A" siclog@
  // In the next valid subframe following the one scheduled in step 6A the SS  assigns 7 UL grants (UL grant allocation type 2) of size 840 bits.
  // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                                            15, 3, 1, 7);  // Imcs = 15 -> Itbs = 14
  //@siclog "Step 7" siclog@
  // Check: does the UE transmit a Status Report with no NACK_SN and ACK_SN = 10?
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                             cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA ) ) )
        {
          t_WatchDog.stop;
          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 7");
        }
    [] t_WatchDog.timeout
      {
        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 7");
      }
    } // alt
  //@siclog "Step 7B" siclog@
  // The UE transmits RLC SDU#4.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU4);
  //@siclog "Step 7C" siclog@
  // The UE transmits RLC SDU#5.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU5);
  //@siclog "Step 7D" siclog@
  // The UE transmits RLC SDU#6.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU6);
  //@siclog "Step 7E" siclog@
  // The UE transmits RLC SDU#7.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU7);
  //@siclog "Step 7F" siclog@
  // The UE transmits RLC SDU#8.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU8);
  //@siclog "Step 7G" siclog@
  // The UE transmits RLC SDU#9.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU9);
  //@siclog "Step 7H" siclog@
  // The UE transmits RLC SDU#10.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU10);
  //@siclog "Step 7I" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 8 void" siclog@
  //@siclog "Step 9" siclog@
  // After 300 ms the SS transmits an AMD PDU with SN=10 and P=0, and an AMD PDU with SN=12 and P=1, on DRB1.
  // t-StatusProhibit = 300 ms => 30 frames
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);
  v_SubFrameTimingT1 := v_Timing;
  p_RLC_Rec.AM_VTS := 10;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 0, 22);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                 tsc_P_NoPoll,
                 tsc_FI_StartOfSDU,
                 v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 12;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 82, 20);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                 tsc_P_Poll,
                 tsc_FI_EndOfSDU,
                 v_RLC_Data1);
  //@siclog "Step 10" siclog@
  // Within t_Reordering/2 ms after Step 9, the SS transmits an AMD PDU with SN=11 and P=0 on DRB1.
  // 60 ms scheduled is less than 150/2 = t_Reordering/2, same subframe as before
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  p_RLC_Rec.AM_VTS := 11;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 22, 60);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  //@siclog "Step 10A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.
  // v_Timing.Subframe.Number of 4 is valid for UL grant transmission
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                                 3, 1);
  //@siclog "Step 11A" siclog@
  // The SS assigns 1 UL grant (UL grant allocation type 2) of size 840 bits.
  // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                                            15, 3, 1, 1);  // Imcs = 15 -> Itbs = 14
  //@siclog "Step 9A" siclog@
  // Check: Does the UE transmit a scheduling request within t-Reordering / 2 ms?
  // The trigger will be initiated after 300 ms (see step 9)
  f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Enable);
  SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?)) -> value v_ReceivedSysAsp;
  f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Disable);
  v_SubFrameTimingT2 := v_ReceivedSysAsp.Common.TimingInfo.SubFrame;
  v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingT1, v_SubFrameTimingT2);
  // sending has been scheduled 300 ms in advance
  // SR would mean that UE reacts upon transmission in step 10
  if ( v_Duration < 60 )
    {
      f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 9A");
    };
  //@siclog "Step 11" siclog@
  // Check: does the UE transmit a Status Report with no NACK_SN and ACK_SN=13?
  p_RLC_Rec.AM_VTA := 13;
  f_RxSTATUS_PDU_ACK (p_RLC_Rec);
  f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 11");
  //@siclog "Step 11B" siclog@
  // The UE transmits RLC SDU#11.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU11);
  //@siclog "Step 11C" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 12 void" siclog@
  //@siclog "Step 13 void" siclog@
  //@siclog "Step 14" siclog@
  // The SS transmits an AMD PDU with SN=13 and P=0, and an AMD PDU with SN=19 and P=1, on DRB1.
  // t-StatusProhibit = 300 ms => 30 frames
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);
  p_RLC_Rec.AM_VTS := 13;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 0, 22);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_StartOfSDU,
                 v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 19;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 82, 20);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_Poll,
                 tsc_FI_EndOfSDU,
                 v_RLC_Data1);
  //@siclog "Step 15" siclog@
  // The SS waits for t-Reordering ms to ensure expiry.
  //@siclog "Step 16 void" siclog@
  //@siclog "Step 17" siclog@
  // 60 ms after step 15 the SS assigns an UL grant (UL grant allocation type 3) of size 56 bits. (Note 3)
  v_Timing := f_EUTRA_TimingInfoAdd( v_Timing, float2int((0.06 + p_RLC_Rec.t_Reordering)*1000.0) );
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                 1, 2); // Imcs = 1 -> Itbs = 1
  //@siclog "Step 18" siclog@
  // Check: Does the UE transmit a Status Report with ACK_SN=16 and 2 NACK_SNs: 14 and 15?
  p_RLC_Rec.AM_VTA := 16;
  v_NACK_List := cr_NACK_List_2NACKs (14,
                                      tsc_E2_NoSO_Follows,
                                      omit,
                                      15,
                                      tsc_E2_NoSO_Follows,
                                      omit);
  f_RxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_1bit_Any);
  f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 18");
  //@siclog "Step 19 void" siclog@
  //@siclog "Step 20 void" siclog@
  //@siclog "Step 21" siclog@
  // The SS transmits an AMD PDU with SN=14 and P=1 on DRB1.
  // t-StatusProhibit = 300 ms => 30 frames
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);
  p_RLC_Rec.AM_VTS := 14;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 22, 20);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_Poll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  //@siclog "Step 22" siclog@
  // 60 ms after step 21 the SS assigns an UL grant grant (UL grant allocation type 3) of size 72 bits. (Note 4)
  v_Timing := f_EUTRA_TimingInfoAdd( v_Timing, 60 );
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                 2, 2);
  //@siclog "Step 24" siclog@
  // 60 ms after step 22 the SS transmits 4 AMD PDU with SN=15, 16, 17, 18.
  v_Timing := f_EUTRA_TimingInfoAdd( v_Timing, 60 );
  p_RLC_Rec.AM_VTS := 15;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 42, 10);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 16;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 52, 10);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 17;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 62, 10);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 18;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 72, 10);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  //@siclog "Step 24A" siclog@
  // 60 ms after step 24  the SS assigns 1 UL grant (UL grant allocation type 2) of size 840 bits. (Note 1)
  v_Timing := f_EUTRA_TimingInfoAdd( v_Timing, 60 );
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                            15, 3, 1, 1);
  //@siclog "Step 23" siclog@
  // Check: does the UE transmit a Status Report with ACK_SN=20 and 4 NACK_SNs: 15, 16, 17 and 18?
  p_RLC_Rec.AM_VTA := 20;
  v_NACK_List := cr_NACK_List_4NACKs_NoSOs(15, 16, 17, 18);
  f_RxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_1bit_Any);
  f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 23");
  //@siclog "Step 25" siclog@
  // The UE loopbacks the complete RLC SDU.
  f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU12);
  //@siclog "Step 26" siclog@
  // The SS transmits a STATUS PDU
  f_TxSTATUS_PDU(p_RLC_Rec);
} // fl_EUTRA_7_2_3_10_TestBody
      


After:

	function fl_EUTRA_7_2_3_10_TestBody(inout RLC_SS_State p_RLC_Rec)
  runs on EUTRA_PTC
{ // @sic R5-102147 sic@ @sic R5s100116 sic@ @sic R5s100142 sic@ @sic R5-103803 sic@ @sic R5s100224 sic@
  // @sic R5s100279 sic@ @sic R5-105016 sic@
  var integer i;
  var RLC_DataField_Type v_RLC_Data1;
  var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;
  var integer v_Duration;
  var SubFrameTiming_Type v_Timing;
  var SubFrameTiming_Type v_SubFrameTimingTa;
  var SubFrameTiming_Type v_SubFrameTimingTb;
  var SubFrameTiming_Type v_SubFrameTimingTc;
  var SubFrameTiming_Type v_SubFrameTimingT1;
  var SubFrameTiming_Type v_SubFrameTimingT2;
  var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode ;
  var integer v_Subframe := 0;
  var DRB_COMMON_IND v_ReceivedAsp;
  var SYSTEM_IND v_ReceivedSysAsp;
  var template (value) RLC_Status_NACK_List_Type v_NACK_List;
  var template (present) RLC_Status_Padding_Type v_Padding_1bit_Any := '?'B;
  var template (present) RLC_Status_Padding_Type v_Padding_5bits_Any := '?????'B;
  timer t_WatchDog := 5.0;
  //PDCP SDUs of this size will be built, appended to a PDCP header,
  //and then used as RLC SDUs
  p_RLC_Rec.TxDataSize := 98;
  // determine RAT to make the timing correct later on
  v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);
  // generate 12 RLC SDUs = PDCP PDUs for transmission
  for (i := 0; i < 12; i:= i + 1) {
    f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data
    v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12), p_RLC_Rec.RLC_Data);
    p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));
    p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);
  }
  //@siclog "Step 0" siclog@
  // The SS stops the UL grant transmission.
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 1" siclog@
  // The SS transmits 4 AMD PDUs with SN=0, 1, 2, and 4 on DRB1.
  // The SS sets the P field of all the AMD PDUs to 0. Record time TA when the AMD PDU with SN=4 is sent.
  //wait for 100ms for sync both in case of FDD and TDD
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU2);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU3);
  p_RLC_Rec.AM_VTS := 4;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU5);
  v_SubFrameTimingTa := v_Timing;
  v_SubFrameTimingTa.Subframe.Number := v_Subframe;
  //@siclog "Step 1A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants (UL grant allocation type 2) of size 840 bits.
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                            15, 3, 1, 3);  // Imcs = 15 -> Itbs = 14
  //@siclog "Step 1B" siclog@
  // The UE transmits RLC SDU#1.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU1);
  //@siclog "Step 1C" siclog@
  // The UE transmits RLC SDU#2.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU2);
  //@siclog "Step 1D" siclog@
  // The UE transmits RLC SDU#3.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);
  //@siclog "Step 1E" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 1F" siclog@
  // The SS starts the UL default grant transmission
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1,cs_TimingInfo_Now);
  //@siclog "Step 2" siclog@
  // Check 1: Does the UE transmit a Status Report with NACK_SN=3 and ACK_SN=5?
  // Record time TB
  // Check 2: (TB - TA) = t_Reordering
  p_RLC_Rec.AM_VTA := 5;
  v_NACK_List := cr_NACK_List (3, tsc_E2_NoSO_Follows, omit);
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                                 v_NACK_List,
                                                                 v_Padding_5bits_Any ))) -> value v_ReceivedAsp
        {
          v_SubFrameTimingTb := v_ReceivedAsp.Common.TimingInfo.SubFrame;
          v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTa, v_SubFrameTimingTb);
          if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )
            {
              f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 2");
            }
          else
            {
              f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2");
            };
          t_WatchDog.stop;
        }
    [] t_WatchDog.timeout
      {
        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 2");
      }
    } // alt
  //@siclog "Step 3" siclog@
  // 100 ms after the Status Report is received at Step 2, the SS transmits 4 AMD PDUs with SN=5, 6, 8 and 9 on DRB 1.
  // The SS sets the P field of all the AMD PDUs to 0.
  v_Timing := v_SubFrameTimingTb;
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 100);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU6);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU7);
  p_RLC_Rec.AM_VTS := 8;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU9);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU10);
  //@siclog "Step 3A void" siclog@
  //@siclog "Step 3B" siclog@
  // Check 1: Does the UE transmit a Status Report with NACK_SN=3, ACK_SN=7?
  // Record time TC
  // Check 2: (TC - TB) = t_StatusProhibit
  p_RLC_Rec.AM_VTA := 7;
  v_NACK_List := cr_NACK_List (3,
                               tsc_E2_NoSO_Follows,
                               omit);
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                                 v_NACK_List,
                                                                 v_Padding_5bits_Any ))) -> value v_ReceivedAsp  // @sic R5s100386 sic@
        {
          v_SubFrameTimingTc := v_ReceivedAsp.Common.TimingInfo.SubFrame;
          v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTb, v_SubFrameTimingTc);
          if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )
            {
              f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 3A");
            }
          else
            {
              f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 3A");
            };
          t_WatchDog.stop;
        }
      [] t_WatchDog.timeout
        {
          f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 3A");
        }
    } // alt
  //@siclog "Step 3C void" siclog@
  //@siclog "Step 4" siclog@
  // Check: does the UE transmit a Status Report with NACK_SN=3, NACK_SN=7 and ACK_SN=10?
  // This will happen after t_StatusProhibit which has already been checked
  p_RLC_Rec.AM_VTA := 10;
  v_NACK_List := cr_NACK_List_2NACKs(3,
                                     tsc_E2_NoSO_Follows,
                                     omit,
                                     7,
                                     tsc_E2_NoSO_Follows,
                                     omit);
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
  {
    [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                           cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                               v_NACK_List,
                                                               v_Padding_1bit_Any ))) -> value v_ReceivedAsp
      {
        t_WatchDog.stop;
      }
    [] t_WatchDog.timeout
      {
        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 4");
      }
  } // alt
  //@siclog "Step 4A" siclog@
  // The SS stops the UL default grant transmission
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );
  //@siclog "Step 5 void" siclog@
  //@siclog "Step 6" siclog@
  // After 300 ms the SS transmits 3 AMD PDUs with SN=3 and SN=7 on DRB 1.
  // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.
  // t-StatusProhibit = 300 ms => 30 frames
  // v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);
  // WA EW
  v_Timing := f_EUTRA_TimingInfoAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);
  p_RLC_Rec.AM_VTS := 3;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU4);
  p_RLC_Rec.AM_VTS := 7;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_Poll,
               tsc_RLC_SDU8);
  //@siclog "Step 6A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.
  // v_Timing.Subframe.Number of 4 is valid for UL grant transmission
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                                 3, 1);
  //@siclog "Step 7A" siclog@
  // In the next valid subframe following the one scheduled in step 6A the SS  assigns 7 UL grants (UL grant allocation type 2) of size 840 bits.
  // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                                            15, 3, 1, 7);  // Imcs = 15 -> Itbs = 14
  //@siclog "Step 7" siclog@
  // Check: does the UE transmit a Status Report with no NACK_SN and ACK_SN = 10?
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                             cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA ) ) )
        {
          t_WatchDog.stop;
          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 7");
        }
    [] t_WatchDog.timeout
      {
        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 7");
      }
    } // alt
  //@siclog "Step 7B" siclog@
  // The UE transmits RLC SDU#4.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU4);
  //@siclog "Step 7C" siclog@
  // The UE transmits RLC SDU#5.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU5);
  //@siclog "Step 7D" siclog@
  // The UE transmits RLC SDU#6.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU6);
  //@siclog "Step 7E" siclog@
  // The UE transmits RLC SDU#7.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU7);
  //@siclog "Step 7F" siclog@
  // The UE transmits RLC SDU#8.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU8);
  //@siclog "Step 7G" siclog@
  // The UE transmits RLC SDU#9.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU9);
  //@siclog "Step 7H" siclog@
  // The UE transmits RLC SDU#10.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU10);
  //@siclog "Step 7I" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 8 void" siclog@
  //@siclog "Step 9" siclog@
  // After 300 ms the SS transmits an AMD PDU with SN=10 and P=0, and an AMD PDU with SN=12 and P=1, on DRB1.
  // t-StatusProhibit = 300 ms => 30 frames
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);
  v_SubFrameTimingT1 := v_Timing;
  p_RLC_Rec.AM_VTS := 10;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 0, 22);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                 tsc_P_NoPoll,
                 tsc_FI_StartOfSDU,
                 v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 12;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 82, 18); // R5s110012
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                 tsc_P_Poll,
                 tsc_FI_EndOfSDU,
                 v_RLC_Data1);
  //@siclog "Step 10" siclog@
  // Within t_Reordering/2 ms after Step 9, the SS transmits an AMD PDU with SN=11 and P=0 on DRB1.
  // 60 ms scheduled is less than 150/2 = t_Reordering/2, same subframe as before
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  p_RLC_Rec.AM_VTS := 11;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 22, 60);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  //@siclog "Step 10A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.
  // v_Timing.Subframe.Number of 4 is valid for UL grant transmission
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                                 3, 1);
  //@siclog "Step 11A" siclog@
  // The SS assigns 1 UL grant (UL grant allocation type 2) of size 840 bits.
  // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                                            15, 3, 1, 1);  // Imcs = 15 -> Itbs = 14
  //@siclog "Step 9A" siclog@
  // Check: Does the UE transmit a scheduling request within t-Reordering / 2 ms?
  // The trigger will be initiated after 300 ms (see step 9)
  f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Enable);
  SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?)) -> value v_ReceivedSysAsp;
  f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Disable);
  v_SubFrameTimingT2 := v_ReceivedSysAsp.Common.TimingInfo.SubFrame;
  v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingT1, v_SubFrameTimingT2);
  // sending has been scheduled 300 ms in advance
  // SR would mean that UE reacts upon transmission in step 10
  if ( v_Duration < 60 )
    {
      f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 9A");
    };
  //@siclog "Step 11" siclog@
  // Check: does the UE transmit a Status Report with no NACK_SN and ACK_SN=13?
  p_RLC_Rec.AM_VTA := 13;
  f_RxSTATUS_PDU_ACK (p_RLC_Rec);
  f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 11");
  //@siclog "Step 11B" siclog@
  // The UE transmits RLC SDU#11.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU11);
  //@siclog "Step 11C" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 12 void" siclog@
  //@siclog "Step 13 void" siclog@
  //@siclog "Step 14" siclog@
  // The SS transmits an AMD PDU with SN=13 and P=0, and an AMD PDU with SN=19 and P=1, on DRB1.
  // t-StatusProhibit = 300 ms => 30 frames
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);
  p_RLC_Rec.AM_VTS := 13;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 0, 22);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_StartOfSDU,
                 v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 19;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 82, 18); // R5s110012
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_Poll,
                 tsc_FI_EndOfSDU,
                 v_RLC_Data1);
  //@siclog "Step 15" siclog@
  // The SS waits for t-Reordering ms to ensure expiry.
  //@siclog "Step 16 void" siclog@
  //@siclog "Step 17" siclog@
  // 60 ms after step 15 the SS assigns an UL grant (UL grant allocation type 3) of size 56 bits. (Note 3)
  v_Timing := f_EUTRA_TimingInfoAdd( v_Timing, float2int((0.06 + p_RLC_Rec.t_Reordering)*1000.0) );
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                 1, 2); // Imcs = 1 -> Itbs = 1
  //@siclog "Step 18" siclog@
  // Check: Does the UE transmit a Status Report with ACK_SN=16 and 2 NACK_SNs: 14 and 15?
  p_RLC_Rec.AM_VTA := 16;
  v_NACK_List := cr_NACK_List_2NACKs (14,
                                      tsc_E2_NoSO_Follows,
                                      omit,
                                      15,
                                      tsc_E2_NoSO_Follows,
                                      omit);
  f_RxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_1bit_Any);
  f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 18");
  //@siclog "Step 19 void" siclog@
  //@siclog "Step 20 void" siclog@
  //@siclog "Step 21" siclog@
  // The SS transmits an AMD PDU with SN=14 and P=1 on DRB1.
  // t-StatusProhibit = 300 ms => 30 frames
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);
  p_RLC_Rec.AM_VTS := 14;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 22, 20);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_Poll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  //@siclog "Step 22" siclog@
  // 60 ms after step 21 the SS assigns an UL grant grant (UL grant allocation type 3) of size 72 bits. (Note 4)
  v_Timing := f_EUTRA_TimingInfoAdd( v_Timing, 60 );
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                 2, 2);
  //@siclog "Step 24" siclog@
  // 60 ms after step 22 the SS transmits 4 AMD PDU with SN=15, 16, 17, 18.
  v_Timing := f_EUTRA_TimingInfoAdd( v_Timing, 60 );
  p_RLC_Rec.AM_VTS := 15;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 42, 10);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 16;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 52, 10);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 17;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 62, 10);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 18;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 72, 10);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_OnePDU(p_RLC_Rec,
                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                 tsc_P_NoPoll,
                 tsc_FI_MiddleOfSDU,
                 v_RLC_Data1);
  //@siclog "Step 24A" siclog@
  // 60 ms after step 24  the SS assigns 1 UL grant (UL grant allocation type 2) of size 840 bits. (Note 1)
  v_Timing := f_EUTRA_TimingInfoAdd( v_Timing, 60 );
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                            15, 3, 1, 1);
  //@siclog "Step 23" siclog@
  // Check: does the UE transmit a Status Report with ACK_SN=20 and 4 NACK_SNs: 15, 16, 17 and 18?
  p_RLC_Rec.AM_VTA := 20;
  v_NACK_List := cr_NACK_List_4NACKs_NoSOs(15, 16, 17, 18);
  f_RxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_1bit_Any);
  f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 23");
  //@siclog "Step 25" siclog@
  // The UE loopbacks the complete RLC SDU.
  f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU12);
  //@siclog "Step 26" siclog@
  // The SS transmits a STATUS PDU
  f_TxSTATUS_PDU(p_RLC_Rec);
} // fl_EUTRA_7_2_3_10_TestBody



Change 2 /  Test Case 7.2.3.13
	Function name
	fl_EUTRA_7_2_3_13_TestBody ()

	Reason for change
	When multiple timed events are used which are dependent on each other one absolute timestamp should be used. This absolute timestamp is retrieved by f_EUTRA_GetNextSendOccasion. Later time calculations should be done on the received timing information in peer messages or SYS_IND from the UE.

This ensures to send data/do configurations in a timeline which is absolute and not dependent on time retrieval during test case run.

	Summary of change
	Replace the usage of f_EUTRA_GetNextSendOccasion by a calculation based on prior received timing information.

	TTCN module
	RLC_AM_Testcases.ttcn 

	MCC160 Comment
	


Before:

	function fl_EUTRA_7_2_3_13_TestBody(inout RLC_SS_State p_RLC_Rec)
  runs on EUTRA_PTC
{ // @sic R5-105016 sic@
  var RRC_TransactionIdentifier v_RRC_TI := tsc_RRC_TI_Def;
  var template (value) EUTRA_FDD_TDD_CellInfo_Type  v_EUTRA_FDD_TDD_Info;
  var integer i;
  var integer v_Duration;
  var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;
  var template (value) RLC_Status_NACK_List_Type  v_NACK_List;
  var DRB_COMMON_IND v_ReceivedAsp;
  var SubFrameTiming_Type v_SubFrameTimingTa;
  var SubFrameTiming_Type v_SubFrameTimingTb;
  var SubFrameTiming_Type v_SubFrameTimingTc;
  var SubFrameTiming_Type v_SubFrameTimingTd;
  var SubFrameTiming_Type v_SubFrameTimingTe;
  var SubFrameTiming_Type v_SubFrameTimingTf;
  var SubFrameTiming_Type v_SubFrameTimingTg;
  var SubFrameTiming_Type v_SubFrameTimingTh;
  var SubFrameTiming_Type v_SubFrameTimingTi;
  var SubFrameTiming_Type v_SubFrameTimingTj;
  var template (present) RLC_Status_Padding_Type v_Padding_5bits_Any := '?????'B;
  var template (present) RLC_Status_Padding_Type v_Padding_1bit_Any := '?'B;
  var SubFrameTiming_Type v_Timing;
  var integer v_Subframe := 0;
  var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode ;
  var template (value) PhysicalConfigDedicated_AntennaInfo_Type v_AntennaInfo;
  timer t_WatchDog := 5.0;
  // determine RAT to make the timing correct later on
  v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);
  // get FDD_TDD_Info
  v_EUTRA_FDD_TDD_Info := f_EUTRA_CellInfo_GetFDD_TDD_Info (eutra_Cell1);
  v_AntennaInfo := f_EUTRA_CellInfo_GetAntennaInfoDedicated (eutra_Cell1);
  //PDCP SDUs of this size will be built, appended to a PDCP header,
  //and then used as RLC SDUs
  p_RLC_Rec.TxDataSize := 98;
  // generate 22 RLC SDUs = PDCP PDUs for transmission
  for (i := 0; i < 22; i:= i + 1)
    {
      f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data
      v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12 ), p_RLC_Rec.RLC_Data);
      p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));
      p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);
    }
  //@siclog "Step 1 void" siclog@
  //@siclog "Step 1A" siclog@
  // The SS stops the UL default grant transmission
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );
  //@siclog "Step 2" siclog@
  // The SS transmits 4 AMD PDUs with P=0 and SN=0, 1, 2 and 4.
  // The SS record time TA when AMD PDU 5 (with SN=4) is sent.
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU2);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU3);
  p_RLC_Rec.AM_VTS := 4;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU5);
  v_SubFrameTimingTa := v_Timing;
  v_SubFrameTimingTa.Subframe.Number := v_Subframe;
  //@siclog "Step 2A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                            15, 3, 1, 3 );  // Imcs = 15 -> Itbs = 14
  //@siclog "Step 2B" siclog@
  // The UE transmits RLC SDU#1.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU1);
  //@siclog "Step 2C" siclog@
  // The UE transmits RLC SDU#2.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU2);
  //@siclog "Step 2D" siclog@
  // The UE transmits RLC SDU#3.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);
  //@siclog "Step 2E" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 2F" siclog@
  // The SS starts the UL default grant transmission
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 3" siclog@
  // Check1: Does the UE transmit a STATUS PDU with NACK_SN=3 and ACK_SN=5 ? Record time TB.
  // Check2: Is (TB - TA ) = t_Reordering ?
  p_RLC_Rec.AM_VTA := 5;
  v_NACK_List := cr_NACK_List(3, tsc_E2_NoSO_Follows, omit);
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                                 v_NACK_List,
                                                                 v_Padding_5bits_Any ))) -> value v_ReceivedAsp
        {
          v_SubFrameTimingTb := v_ReceivedAsp.Common.TimingInfo.SubFrame;
          v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTa, v_SubFrameTimingTb);
          if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )
            {
            }
          else
            {
              f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 3");
            }
          t_WatchDog.stop;
        }
      [] t_WatchDog.timeout
        {
          f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 3");
        }
    } // alt
  //@siclog "Step 4" siclog@
  // 100 ms after the Status Report received at Step 3, the SS sends 4 AMD PDUs with P=0 and SN=5, 6, 8 and 9.
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU6);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU7);
  p_RLC_Rec.AM_VTS := 8;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU9);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU10);
  //@siclog "Step 4A" siclog@
  // Check1: Does the UE transmit a STATUS PDU with NACK_SN=3, NACK_SN=7 and ACK_SN=10 ? Record time TC.
  // Check2: Is (TC - TB ) = t_StatusProhibit ?
  p_RLC_Rec.AM_VTA := 7;
  v_NACK_List := cr_NACK_List ( 3,
                                tsc_E2_NoSO_Follows,
                                omit );
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
  {
    [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                           cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                               v_NACK_List,
                                                               v_Padding_5bits_Any ))) -> value v_ReceivedAsp
       {
         v_SubFrameTimingTc := v_ReceivedAsp.Common.TimingInfo.SubFrame;
         v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTb, v_SubFrameTimingTc );
         if( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )
         {
         }
         else
         {
            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 4B");
         }
         t_WatchDog.stop;
       }
    [] t_WatchDog.timeout
       {
         f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 4B");
       }
  } // alt
  //@siclog "Step 5" siclog@
  // The UE transmits a STATUS PDU with NACK_SN=3, NACK_SN=7 and ACK_SN=10.
  p_RLC_Rec.AM_VTA := 10;
  v_NACK_List := cr_NACK_List_2NACKs ( 3,
                                       tsc_E2_NoSO_Follows,
                                       omit,
                                       7,
                                       tsc_E2_NoSO_Follows,
                                       omit );
  DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                      cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                          v_NACK_List,
                                                          v_Padding_1bit_Any )));
  //@siclog "Step 6" siclog@
  // The SS stops the UL default grant transmission
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );
  //@siclog "Step 7" siclog@
  // After 300ms the SS transmits 3 AMD PDUs with SN=3, 7 and 9. The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);
  p_RLC_Rec.AM_VTS := 3;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_NoPoll,
                tsc_RLC_SDU4 );
  p_RLC_Rec.AM_VTS := 7;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_NoPoll,
                tsc_RLC_SDU8 );
  p_RLC_Rec.AM_VTS := 9;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_Poll,
                tsc_RLC_SDU10 );
  //@siclog "Step 7A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 2)
  // v_Timing.Subframe.Number of 4 is valid for UL grant transmission
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                                 3, 1);
  //@siclog "Step 8A" siclog@
  // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)
  // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,
                                             cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                                             15, 3, 1, 7);
  //@siclog "Step 8" siclog@
  // The UE transmits a Status Report with no NACK_SN and ACK_SN = 10.
  DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                      cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA ) ) );
  //@siclog "Step 8B" siclog@
  // The UE transmits RLC SDU#4.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU4);
  //@siclog "Step 8C" siclog@
  // The UE transmits RLC SDU#5.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU5);
  //@siclog "Step 8D" siclog@
  // The UE transmits RLC SDU#6.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU6);  // @sic R5s100189 sic@
  //@siclog "Step 8E" siclog@
  // The UE transmits RLC SDU#7.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU7);
  //@siclog "Step 8F" siclog@
  // The UE transmits RLC SDU#8.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU8);
  //@siclog "Step 8G" siclog@
  // The UE transmits RLC SDU#9.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU9);  // @sic R5s100189 sic@
  //@siclog "Step 8H" siclog@
  // The UE transmits RLC SDU#10.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU10);
  //@siclog "Step 8I" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 9" siclog@
  // The SS transmits an AMD PDU to the UE
  f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU11);
  //@siclog "Step 9A" siclog@
  // The SS starts the UL default grant transmission
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 10" siclog@
  // The UE transmits an AMD PDU with the same data as received in the corresponding DL AMD PDU.
  // The UE sets the poll bit as both the transmission and retransmission buffers become empty. Record time TD.
  DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                      cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,
                                                       tsc_P_Poll,
                                                       {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11]} ))) -> value v_ReceivedAsp;
  v_SubFrameTimingTd := v_ReceivedAsp.Common.TimingInfo.SubFrame;
  //@siclog "Step 11" siclog@
  // Check1: Does the UE set the poll bit as both the transmission and retransmission buffers become empty? Record time TE.
  // Check2: Is (TE - TD ) = T_poll_retransmit?
  DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                      cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,
                                                       tsc_P_Poll,
                                                       {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11]} ))) -> value v_ReceivedAsp;
  v_SubFrameTimingTe := v_ReceivedAsp.Common.TimingInfo.SubFrame;
  v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTd, v_SubFrameTimingTe);
  if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_PollRetransmit * 1000.0) ) )
    {
    }
  else
    {
      f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 11");
    }
  //@siclog "Step 11A" siclog@
  // The SS transmits a STATUS PDU.
  p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 12" siclog@
  // The SS reconfigures RLC in the UE and sets.
  p_RLC_Rec.t_Reordering := 0.2;
  p_RLC_Rec.t_StatusProhibit := 0.4;
  p_RLC_Rec.t_PollRetransmit := 0.5;
  // Send RRC CONNECTION RECONFIGURATION to UE
  f_EUTRA_RRCConnectionReconfiguration_RadioResConfig(eutra_Cell1,
                                                      v_RRC_TI,
                                                      cds_SRB2_1AM_DRB_Config_RLC_modif(v_EUTRA_FDD_TDD_Info.cqi_ReportConfig,
                                                                                        v_EUTRA_FDD_TDD_Info.soundingRS_UL_Config,
                                                                                        v_AntennaInfo,
                                                                                        cds_TX_AM_RLC_no_mRT (ms500, pInfinity, kBinfinity),
                                                                                        cds_RX_AM_RLC_Common (ms200, ms400)));
  //@siclog "Step 11B" siclog@
  // The SS stops the UL default grant transmission
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );  // @sic R5s100189 sic@
  //@siclog "Step 13" siclog@
  // The SS transmits 4 AMD PDUs with P=0 and SN=11, 12, 13 and 15.
  // The SS records time TF when AMD PDU 16 (with SN=15) is sent.
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  v_Timing.Subframe.Number := v_Subframe;
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU12);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU13);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU14);
  p_RLC_Rec.AM_VTS := 15;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU16);
  v_SubFrameTimingTf := v_Timing;
  v_SubFrameTimingTf.Subframe.Number := v_Subframe;
  //@siclog "Step 13A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                            15, 3, 1, 3 );  // Imcs = 15 -> Itbs = 14
  //@siclog "Step 13B" siclog@
  // The UE transmits RLC SDU#12.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU12);
  //@siclog "Step 13C" siclog@
  // The UE transmits RLC SDU#13.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU13);
  //@siclog "Step 13D" siclog@
  // The UE transmits RLC SDU#14.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU14);
  //@siclog "Step 13E" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 13F" siclog@
  // The SS starts the UL default grant transmission
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 14" siclog@
  // Check1: Does the UE transmit a STATUS PDU with NACK_SN=14 and ACK_SN=16 ? Record time TG.
  // Check2: Is (TG - TF ) = updated value of t_Reordering ?
  p_RLC_Rec.AM_VTA := 16;
  v_NACK_List := cr_NACK_List(14, tsc_E2_NoSO_Follows, omit);
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                                 v_NACK_List,
                                                                 v_Padding_5bits_Any ))) -> value v_ReceivedAsp
        {
          v_SubFrameTimingTg := v_ReceivedAsp.Common.TimingInfo.SubFrame;
          v_Duration := f_EUTRA_SubFrameTimingDuration(v_SubFrameTimingTf, v_SubFrameTimingTg);
          if (f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )
            {
              f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 14");
            }
          t_WatchDog.stop;
        }
      [] t_WatchDog.timeout
        {
          f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 14");
        }
    } // alt
  //@siclog "Step 15" siclog@
  // 100 ms after the Status Report received at Step 14, the SS sends 4 AMD PDUs with P=0 and SN=16, 17, 19 and 20.
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU17);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU18);
  p_RLC_Rec.AM_VTS := 19;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU20);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU21);
  //@siclog "Step 15A" siclog@
  // Check1: Does the UE transmit a STATUS PDU with NACK_SN=14, NACK_SN=18 and ACK_SN=21 ? Record time TH.
  // Check2: Is (TH - TG ) = updated value of t_StatusProhibit ?
  p_RLC_Rec.AM_VTA := 18;
  v_NACK_List := cr_NACK_List ( 14,
                                tsc_E2_NoSO_Follows,
                                omit );
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
  {
    [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                           cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                               v_NACK_List,
                                                               v_Padding_5bits_Any ))) -> value v_ReceivedAsp
       {
         v_SubFrameTimingTh := v_ReceivedAsp.Common.TimingInfo.SubFrame;
         v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTg, v_SubFrameTimingTh );
         if( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )
         {
           f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 15B");
         }
         else
         {
           f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 15B");
         }
         t_WatchDog.stop;
       }
    [] t_WatchDog.timeout
       {
         f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 15B");
       }
  } // alt
  //@siclog "Step 16" siclog@
  // The UE transmits a STATUS PDU with NACK_SN=14, NACK_SN=18 and ACK_SN=21.
  p_RLC_Rec.AM_VTA := 21;
  v_NACK_List := cr_NACK_List_2NACKs ( 14,
                                       tsc_E2_NoSO_Follows,
                                       omit,
                                       18,
                                       tsc_E2_NoSO_Follows,
                                       omit );
  DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                      cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                          v_NACK_List,
                                                          v_Padding_1bit_Any )));
  //@siclog "Step 17" siclog@
  // The SS stops the UL default grant transmission
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );
  //@siclog "Step 18" siclog@
  // After 450ms the SS transmits 3 AMD PDUs with SN=14, 18, 20.
  // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=20.
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 450);
  p_RLC_Rec.AM_VTS := 14;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_NoPoll,
                tsc_RLC_SDU15 );
  p_RLC_Rec.AM_VTS := 18;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_NoPoll,
                tsc_RLC_SDU19 );
  p_RLC_Rec.AM_VTS := 20;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_Poll,
                tsc_RLC_SDU21 );
  //@siclog "Step 18A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 3)
  // v_Timing.Subframe.Number of 4 is valid for UL grant transmission
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                                 3, 1);
  //@siclog "Step 19A" siclog@
  // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 3)
  // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,
                                             cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                                             15, 3, 1, 7);
  //@siclog "Step 19" siclog@
  // The UE transmits a Status Report with no NACK_SN and ACK_SN = 21.
  DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                      cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )));
  //@siclog "Step 19B" siclog@
  // The UE transmits RLC SDU#15.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU15);
  //@siclog "Step 19C" siclog@
  // The UE transmits RLC SDU#16.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU16);
  //@siclog "Step 19D" siclog@
  // The UE transmits RLC SDU#17.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU17);  // @sic R5s100189 sic@
  //@siclog "Step 19E" siclog@
  // The UE transmits RLC SDU#18.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU18);
  //@siclog "Step 19F" siclog@
  // The UE transmits RLC SDU#19.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU19);
  //@siclog "Step 19G" siclog@
  // The UE transmits RLC SDU#20.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU20);  // @sic R5s100189 sic@
  //@siclog "Step 19H" siclog@
  // The UE transmits RLC SDU#21.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU21);
  //@siclog "Step 19I" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 20" siclog@
  // The SS transmits an AMD PDU to the UE
  f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU22);
  //@siclog "Step 20A" siclog@
  // The SS starts the UL default grant transmission
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 21" siclog@
  // The UE transmits an AMD PDU with the same data as received in the corresponding DL AMD PDU.
  // The UE sets the poll bit as both the transmission and retransmission buffers become empty. Record time TI.
  DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                      cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,
                                                       tsc_P_Poll,
                                                       {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU22]} ))) -> value v_ReceivedAsp;
  v_SubFrameTimingTi := v_ReceivedAsp.Common.TimingInfo.SubFrame;
  //@siclog "Step 22" siclog@
  // Does the UE set the poll bit as both the transmission and retransmission buffers become empty? Record time TJ.
  // Check2: Is (TJ - TI ) = updated value of t-PollRetransmit?
  DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                      cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,
                                                       tsc_P_Poll,
                                                       {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU22]} ))) -> value v_ReceivedAsp;
  v_SubFrameTimingTj := v_ReceivedAsp.Common.TimingInfo.SubFrame;
  v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTi, v_SubFrameTimingTj);
  if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_PollRetransmit * 1000.0) ) )
    {
      f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 22");
    }
  else
    {
      f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 22");
    }
  //@siclog "Step 23" siclog@
  // The SS transmits a STATUS PDU.
  p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;
  f_TxSTATUS_PDU(p_RLC_Rec);
} // fl_EUTRA_7_2_3_13_TestBody
   


After:

	function fl_EUTRA_7_2_3_13_TestBody(inout RLC_SS_State p_RLC_Rec)
  runs on EUTRA_PTC
{ // @sic R5-105016 sic@
  var RRC_TransactionIdentifier v_RRC_TI := tsc_RRC_TI_Def;
  var template (value) EUTRA_FDD_TDD_CellInfo_Type  v_EUTRA_FDD_TDD_Info;
  var integer i;
  var integer v_Duration;
  var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;
  var template (value) RLC_Status_NACK_List_Type  v_NACK_List;
  var DRB_COMMON_IND v_ReceivedAsp;
  var SubFrameTiming_Type v_SubFrameTimingTa;
  var SubFrameTiming_Type v_SubFrameTimingTb;
  var SubFrameTiming_Type v_SubFrameTimingTc;
  var SubFrameTiming_Type v_SubFrameTimingTd;
  var SubFrameTiming_Type v_SubFrameTimingTe;
  var SubFrameTiming_Type v_SubFrameTimingTf;
  var SubFrameTiming_Type v_SubFrameTimingTg;
  var SubFrameTiming_Type v_SubFrameTimingTh;
  var SubFrameTiming_Type v_SubFrameTimingTi;
  var SubFrameTiming_Type v_SubFrameTimingTj;
  var template (present) RLC_Status_Padding_Type v_Padding_5bits_Any := '?????'B;
  var template (present) RLC_Status_Padding_Type v_Padding_1bit_Any := '?'B;
  var SubFrameTiming_Type v_Timing;
  var integer v_Subframe := 0;
  var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode ;
  var template (value) PhysicalConfigDedicated_AntennaInfo_Type v_AntennaInfo;
  timer t_WatchDog := 5.0;
  // determine RAT to make the timing correct later on
  v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);
  // get FDD_TDD_Info
  v_EUTRA_FDD_TDD_Info := f_EUTRA_CellInfo_GetFDD_TDD_Info (eutra_Cell1);
  v_AntennaInfo := f_EUTRA_CellInfo_GetAntennaInfoDedicated (eutra_Cell1);
  //PDCP SDUs of this size will be built, appended to a PDCP header,
  //and then used as RLC SDUs
  p_RLC_Rec.TxDataSize := 98;
  // generate 22 RLC SDUs = PDCP PDUs for transmission
  for (i := 0; i < 22; i:= i + 1)
    {
      f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data
      v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12 ), p_RLC_Rec.RLC_Data);
      p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));
      p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);
    }
  //@siclog "Step 1 void" siclog@
  //@siclog "Step 1A" siclog@
  // The SS stops the UL default grant transmission
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );
  //@siclog "Step 2" siclog@
  // The SS transmits 4 AMD PDUs with P=0 and SN=0, 1, 2 and 4.
  // The SS record time TA when AMD PDU 5 (with SN=4) is sent.
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU2);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU3);
  p_RLC_Rec.AM_VTS := 4;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU5);
  v_SubFrameTimingTa := v_Timing;
  v_SubFrameTimingTa.Subframe.Number := v_Subframe;
  //@siclog "Step 2A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                            15, 3, 1, 3 );  // Imcs = 15 -> Itbs = 14
  //@siclog "Step 2B" siclog@
  // The UE transmits RLC SDU#1.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU1);
  //@siclog "Step 2C" siclog@
  // The UE transmits RLC SDU#2.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU2);
  //@siclog "Step 2D" siclog@
  // The UE transmits RLC SDU#3.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);
  //@siclog "Step 2E" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 2F" siclog@
  // The SS starts the UL default grant transmission
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 3" siclog@
  // Check1: Does the UE transmit a STATUS PDU with NACK_SN=3 and ACK_SN=5 ? Record time TB.
  // Check2: Is (TB - TA ) = t_Reordering ?
  p_RLC_Rec.AM_VTA := 5;
  v_NACK_List := cr_NACK_List(3, tsc_E2_NoSO_Follows, omit);
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                                 v_NACK_List,
                                                                 v_Padding_5bits_Any ))) -> value v_ReceivedAsp
        {
          v_SubFrameTimingTb := v_ReceivedAsp.Common.TimingInfo.SubFrame;
          v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTa, v_SubFrameTimingTb);
          if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )
            {
            }
          else
            {
              f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 3");
            }
          t_WatchDog.stop;
        }
      [] t_WatchDog.timeout
        {
          f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 3");
        }
    } // alt
  //@siclog "Step 4" siclog@
  // 100 ms after the Status Report received at Step 3, the SS sends 4 AMD PDUs with P=0 and SN=5, 6, 8 and 9.
  //v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);
  // WA EW
  v_Timing := f_EUTRA_TimingInfoAdd(v_SubFrameTimingTb, 100);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU6);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU7);
  p_RLC_Rec.AM_VTS := 8;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU9);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU10);
  //@siclog "Step 4A" siclog@
  // Check1: Does the UE transmit a STATUS PDU with NACK_SN=3, NACK_SN=7 and ACK_SN=10 ? Record time TC.
  // Check2: Is (TC - TB ) = t_StatusProhibit ?
  p_RLC_Rec.AM_VTA := 7;
  v_NACK_List := cr_NACK_List ( 3,
                                tsc_E2_NoSO_Follows,
                                omit );
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
  {
    [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                           cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                               v_NACK_List,
                                                               v_Padding_5bits_Any ))) -> value v_ReceivedAsp
       {
         v_SubFrameTimingTc := v_ReceivedAsp.Common.TimingInfo.SubFrame;
         v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTb, v_SubFrameTimingTc );
         if( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )
         {
         }
         else
         {
            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 4B");
         }
         t_WatchDog.stop;
       }
    [] t_WatchDog.timeout
       {
         f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 4B");
       }
  } // alt
  //@siclog "Step 5" siclog@
  // The UE transmits a STATUS PDU with NACK_SN=3, NACK_SN=7 and ACK_SN=10.
  p_RLC_Rec.AM_VTA := 10;
  v_NACK_List := cr_NACK_List_2NACKs ( 3,
                                       tsc_E2_NoSO_Follows,
                                       omit,
                                       7,
                                       tsc_E2_NoSO_Follows,
                                       omit );
  // WA EW
  DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                      cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                          v_NACK_List,
                                                          v_Padding_1bit_Any )))  -> value v_ReceivedAsp;
  //@siclog "Step 6" siclog@
  // The SS stops the UL default grant transmission
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );
  //@siclog "Step 7" siclog@
  // After 300ms the SS transmits 3 AMD PDUs with SN=3, 7 and 9. The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.
  // v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);
  // WA EW
  v_Timing := f_EUTRA_TimingInfoAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);
  p_RLC_Rec.AM_VTS := 3;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_NoPoll,
                tsc_RLC_SDU4 );
  p_RLC_Rec.AM_VTS := 7;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_NoPoll,
                tsc_RLC_SDU8 );
  p_RLC_Rec.AM_VTS := 9;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_Poll,
                tsc_RLC_SDU10 );
  //@siclog "Step 7A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 2)
  // v_Timing.Subframe.Number of 4 is valid for UL grant transmission
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                                 3, 1);
  //@siclog "Step 8A" siclog@
  // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)
  // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,
                                             cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                                             15, 3, 1, 7);
  //@siclog "Step 8" siclog@
  // The UE transmits a Status Report with no NACK_SN and ACK_SN = 10.
  DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                      cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA ) ) );
  //@siclog "Step 8B" siclog@
  // The UE transmits RLC SDU#4.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU4);
  //@siclog "Step 8C" siclog@
  // The UE transmits RLC SDU#5.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU5);
  //@siclog "Step 8D" siclog@
  // The UE transmits RLC SDU#6.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU6);  // @sic R5s100189 sic@
  //@siclog "Step 8E" siclog@
  // The UE transmits RLC SDU#7.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU7);
  //@siclog "Step 8F" siclog@
  // The UE transmits RLC SDU#8.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU8);
  //@siclog "Step 8G" siclog@
  // The UE transmits RLC SDU#9.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU9);  // @sic R5s100189 sic@
  //@siclog "Step 8H" siclog@
  // The UE transmits RLC SDU#10.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU10);
  //@siclog "Step 8I" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 9" siclog@
  // The SS transmits an AMD PDU to the UE
  f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU11);
  //@siclog "Step 9A" siclog@
  // The SS starts the UL default grant transmission
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 10" siclog@
  // The UE transmits an AMD PDU with the same data as received in the corresponding DL AMD PDU.
  // The UE sets the poll bit as both the transmission and retransmission buffers become empty. Record time TD.
  DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                      cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,
                                                       tsc_P_Poll,
                                                       {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11]} ))) -> value v_ReceivedAsp;
  v_SubFrameTimingTd := v_ReceivedAsp.Common.TimingInfo.SubFrame;
  //@siclog "Step 11" siclog@
  // Check1: Does the UE set the poll bit as both the transmission and retransmission buffers become empty? Record time TE.
  // Check2: Is (TE - TD ) = T_poll_retransmit?
  DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                      cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,
                                                       tsc_P_Poll,
                                                       {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11]} ))) -> value v_ReceivedAsp;
  v_SubFrameTimingTe := v_ReceivedAsp.Common.TimingInfo.SubFrame;
  v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTd, v_SubFrameTimingTe);
  if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_PollRetransmit * 1000.0) ) )
    {
    }
  else
    {
      f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 11");
    }
  //@siclog "Step 11A" siclog@
  // The SS transmits a STATUS PDU.
  p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 12" siclog@
  // The SS reconfigures RLC in the UE and sets.
  p_RLC_Rec.t_Reordering := 0.2;
  p_RLC_Rec.t_StatusProhibit := 0.4;
  p_RLC_Rec.t_PollRetransmit := 0.5;
  // Send RRC CONNECTION RECONFIGURATION to UE
  f_EUTRA_RRCConnectionReconfiguration_RadioResConfig(eutra_Cell1,
                                                      v_RRC_TI,
                                                      cds_SRB2_1AM_DRB_Config_RLC_modif(v_EUTRA_FDD_TDD_Info.cqi_ReportConfig,
                                                                                        v_EUTRA_FDD_TDD_Info.soundingRS_UL_Config,
                                                                                        v_AntennaInfo,
                                                                                        cds_TX_AM_RLC_no_mRT (ms500, pInfinity, kBinfinity),
                                                                                        cds_RX_AM_RLC_Common (ms200, ms400)));
  //@siclog "Step 11B" siclog@
  // The SS stops the UL default grant transmission
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );  // @sic R5s100189 sic@
  //@siclog "Step 13" siclog@
  // The SS transmits 4 AMD PDUs with P=0 and SN=11, 12, 13 and 15.
  // The SS records time TF when AMD PDU 16 (with SN=15) is sent.
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  v_Timing.Subframe.Number := v_Subframe;
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU12);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU13);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU14);
  p_RLC_Rec.AM_VTS := 15;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU16);
  v_SubFrameTimingTf := v_Timing;
  v_SubFrameTimingTf.Subframe.Number := v_Subframe;
  //@siclog "Step 13A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,
                                            cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                            15, 3, 1, 3 );  // Imcs = 15 -> Itbs = 14
  //@siclog "Step 13B" siclog@
  // The UE transmits RLC SDU#12.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU12);
  //@siclog "Step 13C" siclog@
  // The UE transmits RLC SDU#13.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU13);
  //@siclog "Step 13D" siclog@
  // The UE transmits RLC SDU#14.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU14);
  //@siclog "Step 13E" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 13F" siclog@
  // The SS starts the UL default grant transmission
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 14" siclog@
  // Check1: Does the UE transmit a STATUS PDU with NACK_SN=14 and ACK_SN=16 ? Record time TG.
  // Check2: Is (TG - TF ) = updated value of t_Reordering ?
  p_RLC_Rec.AM_VTA := 16;
  v_NACK_List := cr_NACK_List(14, tsc_E2_NoSO_Follows, omit);
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                                 v_NACK_List,
                                                                 v_Padding_5bits_Any ))) -> value v_ReceivedAsp
        {
          v_SubFrameTimingTg := v_ReceivedAsp.Common.TimingInfo.SubFrame;
          v_Duration := f_EUTRA_SubFrameTimingDuration(v_SubFrameTimingTf, v_SubFrameTimingTg);
          if (f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )
            {
              f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 14");
            }
          t_WatchDog.stop;
        }
      [] t_WatchDog.timeout
        {
          f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 14");
        }
    } // alt
  //@siclog "Step 15" siclog@
  // 100 ms after the Status Report received at Step 14, the SS sends 4 AMD PDUs with P=0 and SN=16, 17, 19 and 20.
  // v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);
  // WA EW
  v_Timing := f_EUTRA_TimingInfoAdd(v_SubFrameTimingTg, 100);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU17);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU18);
  p_RLC_Rec.AM_VTS := 19;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU20);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
  f_TxAMD_SDU (p_RLC_Rec,
               cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
               tsc_P_NoPoll,
               tsc_RLC_SDU21);
  //@siclog "Step 15A" siclog@
  // Check1: Does the UE transmit a STATUS PDU with NACK_SN=14, NACK_SN=18 and ACK_SN=21 ? Record time TH.
  // Check2: Is (TH - TG ) = updated value of t_StatusProhibit ?
  p_RLC_Rec.AM_VTA := 18;
  v_NACK_List := cr_NACK_List ( 14,
                                tsc_E2_NoSO_Follows,
                                omit );
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
  {
    [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                           cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                               v_NACK_List,
                                                               v_Padding_5bits_Any ))) -> value v_ReceivedAsp
       {
         v_SubFrameTimingTh := v_ReceivedAsp.Common.TimingInfo.SubFrame;
         v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTg, v_SubFrameTimingTh );
         if( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )
         {
           f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 15B");
         }
         else
         {
           f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 15B");
         }
         t_WatchDog.stop;
       }
    [] t_WatchDog.timeout
       {
         f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 15B");
       }
  } // alt
  //@siclog "Step 16" siclog@
  // The UE transmits a STATUS PDU with NACK_SN=14, NACK_SN=18 and ACK_SN=21.
  p_RLC_Rec.AM_VTA := 21;
  v_NACK_List := cr_NACK_List_2NACKs ( 14,
                                       tsc_E2_NoSO_Follows,
                                       omit,
                                       18,
                                       tsc_E2_NoSO_Follows,
                                       omit );
  // WA EW
  DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                      cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,
                                                          v_NACK_List,
                                                          v_Padding_1bit_Any ))) -> value v_ReceivedAsp;
  //@siclog "Step 17" siclog@
  // The SS stops the UL default grant transmission
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );
  //@siclog "Step 18" siclog@
  // After 450ms the SS transmits 3 AMD PDUs with SN=14, 18, 20.
  // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=20.
  // v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 450);
  // WA EW
  v_Timing := f_EUTRA_TimingInfoAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 450);
  p_RLC_Rec.AM_VTS := 14;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_NoPoll,
                tsc_RLC_SDU15 );
  p_RLC_Rec.AM_VTS := 18;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_NoPoll,
                tsc_RLC_SDU19 );
  p_RLC_Rec.AM_VTS := 20;
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_TxAMD_SDU ( p_RLC_Rec,
                cs_TimingInfo(v_Timing.SFN.Number, v_Subframe),
                tsc_P_Poll,
                tsc_RLC_SDU21 );
  //@siclog "Step 18A" siclog@
  // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 3)
  // v_Timing.Subframe.Number of 4 is valid for UL grant transmission
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                                 3, 1);
  //@siclog "Step 19A" siclog@
  // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 3)
  // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission
  v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,
                                             cs_TimingInfo(v_Timing.SFN.Number, v_Subframe ),
                                             15, 3, 1, 7);
  //@siclog "Step 19" siclog@
  // The UE transmits a Status Report with no NACK_SN and ACK_SN = 21.
  DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,
                                      cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )));
  //@siclog "Step 19B" siclog@
  // The UE transmits RLC SDU#15.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU15);
  //@siclog "Step 19C" siclog@
  // The UE transmits RLC SDU#16.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU16);
  //@siclog "Step 19D" siclog@
  // The UE transmits RLC SDU#17.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU17);  // @sic R5s100189 sic@
  //@siclog "Step 19E" siclog@
  // The UE transmits RLC SDU#18.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU18);
  //@siclog "Step 19F" siclog@
  // The UE transmits RLC SDU#19.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU19);
  //@siclog "Step 19G" siclog@
  // The UE transmits RLC SDU#20.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU20);  // @sic R5s100189 sic@
  //@siclog "Step 19H" siclog@
  // The UE transmits RLC SDU#21.
  f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU21);
  //@siclog "Step 19I" siclog@
  // The SS transmits a STATUS PDU.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 20" siclog@
  // The SS transmits an AMD PDU to the UE
  f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU22);
  //@siclog "Step 20A" siclog@
  // The SS starts the UL default grant transmission
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 21" siclog@
  // The UE transmits an AMD PDU with the same data as received in the corresponding DL AMD PDU.
  // The UE sets the poll bit as both the transmission and retransmission buffers become empty. Record time TI.
  DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                      cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,
                                                       tsc_P_Poll,
                                                       {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU22]} ))) -> value v_ReceivedAsp;
  v_SubFrameTimingTi := v_ReceivedAsp.Common.TimingInfo.SubFrame;
  //@siclog "Step 22" siclog@
  // Does the UE set the poll bit as both the transmission and retransmission buffers become empty? Record time TJ.
  // Check2: Is (TJ - TI ) = updated value of t-PollRetransmit?
  DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                      cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,
                                                       tsc_P_Poll,
                                                       {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU22]} ))) -> value v_ReceivedAsp;
  v_SubFrameTimingTj := v_ReceivedAsp.Common.TimingInfo.SubFrame;
  v_Duration := f_EUTRA_SubFrameTimingDuration( v_SubFrameTimingTi, v_SubFrameTimingTj);
  if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_PollRetransmit * 1000.0) ) )
    {
      f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 22");
    }
  else
    {
      f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 22");
    }
  //@siclog "Step 23" siclog@
  // The SS transmits a STATUS PDU.
  p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;
  f_TxSTATUS_PDU(p_RLC_Rec);
} // fl_EUTRA_7_2_3_13_TestBody



Change 3 /  Test Case 7.2.3.16
	Function name
	f_TC_7_2_3_16_EUTRA, fl_EUTRA_7_2_3_16_TestBody ()

	Reason for change
	The test case has been changed to completely handle the RRC Connection Reestablishment in order to bring the UE in a clean state at the end of the test case.
However,
1. The RRC Connection Reestablishment procedure is incomplete.
2. Pending DRB data are to be handled. 

	Summary of change
	1. All RBs are to be reset before sending RRC Connection Reestablishment.
2. UL grants must be provided before sending RRC Connection Reestablishment.
3. Security must be activated before sending RRC Connection Reestablishment.
4. DRB needs to be configured for the test mode.
5. RRC Connection must be reconfigured.
6. RRC Connection Reconfiguration and pending data must be handled.
    Data include both the pending RLC data and a PDCP STATUS REPORT.
7. Received RLC data are to be confirmed. 

	TTCN module
	RLC_AM_Testcases.ttcn 

	MCC160 Comment
	


Before:

…
  //postamble
  f_EUTRA_Postamble (eutra_Cell1, E1_IDLE);  // @sic R5s100189 sic@ @sic R5s100279 sic@
} // f_TC_7_2_3_16_EUTRA
	function fl_EUTRA_7_2_3_16_TestBody(inout RLC_SS_State p_RLC_Rec)
  runs on EUTRA_PTC
{
  var integer i;
  var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;
  var template (value) RLC_Status_NACK_List_Type   v_NACK_List;
  var RLC_Status_Padding_Type  v_Padding_5bits := '00000'B;
  // determine RAT to make the timing correct later on
  var template (value) EUTRA_FDD_TDD_CellInfo_Type  v_EUTRA_FDD_TDD_Info := f_EUTRA_CellInfo_GetFDD_TDD_Info (eutra_Cell1);
  var template (value) PhysicalConfigDedicated_AntennaInfo_Type v_AntennaInfo := f_EUTRA_CellInfo_GetAntennaInfoDedicated (eutra_Cell1);
  var NextHopChainingCount v_NextHopChainingCount := 0; // Default configuration value according to TS 36.508 Table 4.6.1-10
  timer t_WatchDog := 5.0;
  // Data size to be extracted from PRBS: 98
  p_RLC_Rec.TxDataSize := 98;
  //PDCP SDUs of this size will be built, appended to a PDCP header,
  //and then used as RLC SDUs
  // generate 3 RLC SDUs = PDCP PDUs
  for (i := 0; i < 3; i:= i + 1) {
    f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data
    v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12 ), p_RLC_Rec.RLC_Data);
    p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));
    p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);
  }
  //@siclog "Step 1" siclog@
  // The SS transmits one AMD PDU containing SDU#1 (100 bytes) in its data field.
  f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU1);
  //@siclog "Step 2" siclog@
  // The UE transmits one RLC PDU which carries SDU#1
  f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU1);
  //@siclog "Step 3" siclog@
  // The SS transmits one AMD PDU containing SDU#2 (100 bytes) in its data field.
  f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU2);
  //@siclog "Step 4" siclog@
  // The UE transmits one AMD PDU containing SDU#2 in its data field.
  f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU2);
  //@siclog "Step 5" siclog@
  // The SS transmits an RLC STATUS PDU. ACK_SN=2, NACK_SN=0.
  v_NACK_List := cs_NACK_List (0, tsc_E2_NoSO_Follows, omit);
  f_TxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_5bits);
  //@siclog "Step 6" siclog@
  // Check: Does the UE transmit the AMD PDU not yet acknowledged ?
  p_RLC_Rec.AM_VRR := 0;
  f_RxAMD_SDU( p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU1);
  f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 6");
  //@siclog "Step 7" siclog@
  // The SS transmits an RLC STATUS PDU. ACK_SN=2.
  p_RLC_Rec.AM_VRR := 2;
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 8" siclog@
  // The SS transmits one AMD PDU containing SDU#3 (100 bytes) in its data field.
  f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU3);
  //@siclog "Step 9" siclog@
  // The UE transmits an RLC PDU containing SDU#3 in its data field.
  f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);
  // EXCEPTION: Step 10 to 11 shall be repeated maxRetxThreshold times
  for (i := 0; i < p_RLC_Rec.maxRetxThreshold; i:= i + 1) {
    //@siclog "Step 10" siclog@
    // The SS transmits an RLC STATUS PDU. ACK_SN=3 and NACK_SN=2.
    v_NACK_List := cs_NACK_List(2, tsc_E2_NoSO_Follows, omit); // @sic R5s100430 sic@
    f_TxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_5bits);
    //@siclog "Step 11" siclog@
    // Check: Does the UE retransmit the AMD PDU not yet acknowledged ?
    p_RLC_Rec.AM_VRR := 2;
    f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);
    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 11");
  }
  //@siclog "Step 12" siclog@
  // The SS transmits an RLC STATUS PDU. ACK_SN=3 and NACK_SN=2.
  v_NACK_List := cs_NACK_List(2, tsc_E2_NoSO_Follows, omit); // @sic R5s100430 sic@
  f_TxSTATUS_PDU_NACK(p_RLC_Rec, v_NACK_List, v_Padding_5bits);
  //@siclog "Step 13" siclog@
  // Check: Does the UE transmit an RRC Connection Re-establishment Request ?
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] SRB.receive( car_SRB0_RrcPdu_IND(eutra_Cell1, cr_RRCConnectionReestablishmentRequest( cr_ReestablishmentCause_OtherFailure ) ))
        {
          t_WatchDog.stop;
          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 13");
        }
      [] t_WatchDog.timeout
        {
         f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 13");
        }
    } // alt
    //@siclog "Step 14" siclog@
    // The SS transmits RRCConnectionReestablishment message.
    f_EUTRA_RRC_RRCConnectionReestablishment_Def ( eutra_Cell1, tsc_RRC_TI_Def, v_NextHopChainingCount );
    //@siclog "Step 15" siclog@
    // Receive RRCConnectionReestablishmentComplete
    SRB.receive ( car_SRB1_RrcPdu_IND ( eutra_Cell1,  cr_508_RRCConnectionReestablishmentComplete( tsc_RRC_TI_Def ) ) );
    //@siclog "Step 16" siclog@
    // The SS transmits an RRCConnectionReconfiguration message to resume SRB2 and DRB1.
    SRB.send ( cas_SRB1_RrcPdu_REQ ( eutra_Cell1,
                                     cs_TimingInfo_Now,
                                     cs_RRCConnectionReconfiguration_SRB2_1AM_DRB_Est ( tsc_RRC_TI_Def,
                                                                                        v_EUTRA_FDD_TDD_Info.cqi_ReportConfig,
                                                                                        v_EUTRA_FDD_TDD_Info.soundingRS_UL_Config,
                                                                                        v_AntennaInfo ) ) );
    //@siclog "Step 17" siclog@
    // The UE transmits an RRCConnectionReconfigurationComplete message.
    SRB.receive ( car_SRB1_RrcPdu_IND ( eutra_Cell1, cr_508_RRCConnectionReconfigurationComplete ( tsc_RRC_TI_Def ) ) );
} // fl_EUTRA_7_2_3_16_TestBody
   


After:

…

  //postamble
  f_EUTRA_Postamble (eutra_Cell1, E3_TESTMODE);  // @sic R5s100189 sic@ @sic R5s100279 sic@
} // f_TC_7_2_3_16_EUTRA
	function fl_EUTRA_7_2_3_16_TestBody(inout RLC_SS_State p_RLC_Rec)
  runs on EUTRA_PTC
{
  var integer i;
  var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;
  var template (value) RLC_Status_NACK_List_Type   v_NACK_List;
  var RLC_Status_Padding_Type  v_Padding_5bits := '00000'B;
  // determine RAT to make the timing correct later on
  var template (value) EUTRA_FDD_TDD_CellInfo_Type  v_EUTRA_FDD_TDD_Info := f_EUTRA_CellInfo_GetFDD_TDD_Info (eutra_Cell1);
  var template (value) PhysicalConfigDedicated_AntennaInfo_Type v_AntennaInfo := f_EUTRA_CellInfo_GetAntennaInfoDedicated (eutra_Cell1);
  var NextHopChainingCount v_NextHopChainingCount := 0; // Default configuration value according to TS 36.508 Table 4.6.1-10
  var SR_PUCCH_ResourceIndex_Type v_Sr_PUCCH_ResourceIndex := f_EUTRA_CellInfo_GetSR_PUCCH_ResourceIndex ( eutra_Cell1 );
  var SR_ConfigIndex_Type v_SR_ConfigIndex := f_EUTRA_CellInfo_GetSR_ConfigIndex ( eutra_Cell1 );
  var EUTRA_SecurityParams_Type v_Auth_Params;
  timer t_WatchDog := 5.0;
  // Data size to be extracted from PRBS: 98
  p_RLC_Rec.TxDataSize := 98;
  //PDCP SDUs of this size will be built, appended to a PDCP header,
  //and then used as RLC SDUs
  // generate 3 RLC SDUs = PDCP PDUs
  for (i := 0; i < 3; i:= i + 1) {
    f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data
    v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12 ), p_RLC_Rec.RLC_Data);
    p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));
    p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);
  }
  //@siclog "Step 1" siclog@
  // The SS transmits one AMD PDU containing SDU#1 (100 bytes) in its data field.
  f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU1);
  //@siclog "Step 2" siclog@
  // The UE transmits one RLC PDU which carries SDU#1
  f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU1);
  //@siclog "Step 3" siclog@
  // The SS transmits one AMD PDU containing SDU#2 (100 bytes) in its data field.
  f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU2);
  //@siclog "Step 4" siclog@
  // The UE transmits one AMD PDU containing SDU#2 in its data field.
  f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU2);
  //@siclog "Step 5" siclog@
  // The SS transmits an RLC STATUS PDU. ACK_SN=2, NACK_SN=0.
  v_NACK_List := cs_NACK_List (0, tsc_E2_NoSO_Follows, omit);
  f_TxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_5bits);
  //@siclog "Step 6" siclog@
  // Check: Does the UE transmit the AMD PDU not yet acknowledged ?
  p_RLC_Rec.AM_VRR := 0;
  f_RxAMD_SDU( p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU1);
  f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 6");
  //@siclog "Step 7" siclog@
  // The SS transmits an RLC STATUS PDU. ACK_SN=2.
  p_RLC_Rec.AM_VRR := 2;
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 8" siclog@
  // The SS transmits one AMD PDU containing SDU#3 (100 bytes) in its data field.
  f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU3);
  //@siclog "Step 9" siclog@
  // The UE transmits an RLC PDU containing SDU#3 in its data field.
  f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);
  // EXCEPTION: Step 10 to 11 shall be repeated maxRetxThreshold times
  for (i := 0; i < p_RLC_Rec.maxRetxThreshold; i:= i + 1) {
    //@siclog "Step 10" siclog@
    // The SS transmits an RLC STATUS PDU. ACK_SN=3 and NACK_SN=2.
    v_NACK_List := cs_NACK_List(2, tsc_E2_NoSO_Follows, omit); // @sic R5s100430 sic@
    f_TxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_5bits);
    //@siclog "Step 11" siclog@
    // Check: Does the UE retransmit the AMD PDU not yet acknowledged ?
    p_RLC_Rec.AM_VRR := 2;
    f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);
    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 11");
  }
  //@siclog "Step 12" siclog@
  // The SS transmits an RLC STATUS PDU. ACK_SN=3 and NACK_SN=2.
  v_NACK_List := cs_NACK_List(2, tsc_E2_NoSO_Follows, omit); // @sic R5s100430 sic@
  f_TxSTATUS_PDU_NACK(p_RLC_Rec, v_NACK_List, v_Padding_5bits);
  //Reset all RBs
  f_EUTRA_SS_SRBs_DRBs_Release ( eutra_Cell1 );
  f_EUTRA_SS_SRBs_DRBs_Config ( eutra_Cell1 );
  //@siclog "Step 13" siclog@
  // Check: Does the UE transmit an RRC Connection Re-establishment Request ?
  t_WatchDog.start;
  alt // @sic R5-100050 sic@
    {
      [] SRB.receive( car_SRB0_RrcPdu_IND(eutra_Cell1, cr_RRCConnectionReestablishmentRequest( cr_ReestablishmentCause_OtherFailure ) ))
        {
          t_WatchDog.stop;
          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 13");
        }
      [] t_WatchDog.timeout
        {
         f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 13");
        }
    } // alt
    //Start UL grant transmission
    f_EUTRA_StartDefULGrantTransmission ( eutra_Cell1, cs_TimingInfo_Now );
    //Activate RRC security
    v_Auth_Params := f_EUTRA_Security_Get();
    v_Auth_Params := f_EUTRA_SS_AS_ActivateSecurity_HO_Reest ( eutra_Cell1, v_Auth_Params, v_NextHopChainingCount );
    f_EUTRA_Security_Set ( v_Auth_Params );
    //@siclog "Step 14" siclog@
    // The SS transmits RRCConnectionReestablishment message.
    f_EUTRA_RRC_RRCConnectionReestablishment_Def ( eutra_Cell1, tsc_RRC_TI_Def, v_NextHopChainingCount );
    //@siclog "Step 15" siclog@
    // Receive RRCConnectionReestablishmentComplete
    SRB.receive ( car_SRB1_RrcPdu_IND ( eutra_Cell1,  cr_508_RRCConnectionReestablishmentComplete( tsc_RRC_TI_Def ) ) );
    // reconfigure DRB locally to set the required test mode AM mapped to TM
    f_EUTRA_SS_DRB1_ConfigAM_TM_Mode(eutra_Cell1);
    p_RLC_Rec.AM_VRR := 0;
    //@siclog "Step 16" siclog@
    // The SS transmits an RRCConnectionReconfiguration message to resume SRB2 and DRB1.
    SRB.send ( cas_SRB1_RrcPdu_REQ ( eutra_Cell1,
                                     cs_TimingInfo_Now,
                                     cs_RRCConnReconfig_Resume_SRB2_DRBs ( tsc_RRC_TI_Def,
                                                                           v_EUTRA_FDD_TDD_Info.cqi_ReportConfig,
                                                                           v_EUTRA_FDD_TDD_Info.soundingRS_UL_Config,
                                                                           v_AntennaInfo,
                                                                           v_Sr_PUCCH_ResourceIndex,
                                                                           v_SR_ConfigIndex) ) );
    //@siclog "Step 17" siclog@
    // The UE transmits an RRCConnectionReconfigurationComplete message.
    interleave {
    []  SRB.receive ( car_SRB1_RrcPdu_IND ( eutra_Cell1, cr_508_RRCConnectionReconfigurationComplete ( tsc_RRC_TI_Def ) ) )
        {}
    // The UE retransmits unacknowledged Data
    []  DRB.receive ( car_DRB1_RLCAmDataInd ( eutra_Cell1,
                                              cr_AMD_PDU_LIs ( p_RLC_Rec.AM_VRR,
                                                               tsc_P_Poll,
                                                               tsc_FI_FullSDU,
                                                               cr_FlexPart_1LI(2),
                                                               {f_PDCP_PDU_Encvalue(cr_PDCP_StatusRep2( int2bit(3, tsc_PDCP_SN_Size_12), omit )),
                                                                p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3]} )))
        {
          p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;
        }
    }
    f_TxSTATUS_PDU(p_RLC_Rec);
} // fl_EUTRA_7_2_3_16_TestBody



Constraint used for PDCP STATUS REPORT
same as cr_PDCP_StatusRep  in PDCP, used by 7_2_3_21 as well

template (value) PDCP_PDU_Type cr_PDCP_StatusRep2 ( B12_Type p_FMS,
                                                    template (omit) octetstring p_Bitmap) :=
{
  StatusReport := {
    D_C := tsc_D_C_CtrlPDU,
    Type := tsc_PDU_Type_StatusRep,
    FMS := p_FMS,
    Bitmap := p_Bitmap
  }
};
Change 4 /  Test Case 7.2.3.21
	Function name
	fl_EUTRA_7_2_3_21_TestBody ()

	Reason for change
	1. It is difficult to receive RLC SDU1 while the handover procedure is ongoing.
2. The reconfiguration of RLC in TM mode must set the logical channel id. ‘omit’ is not sufficient because no configuration has been done earlier which could be ‘kept as is’.
3. After the handover the UE will issue a PDCP STATUS REPORT.

Note: A prose CR for test case 7.2.3.21 is added to this TTCN CR.

	Summary of change
	1. A special default step is activated which catches RLC SDU1 at the point in time prescribed by the test case prose (UL grant provided 60 ms after step 1, so RLC SDU1 is expected 4 subframes later).
Furthermore this special default is augmented to catch repetitions of SDU which is not to be acknowledged, and to catch UE transmissions of PDCP STATUS REPORT plus retransmission of SDU1 as expected in step 4A while the handover procedure has not yet been completed.   
2. The logical channel id is initialized before RLC is set to transparent mode after handover.
3. In step 4A both SDU1 and a PDCP STATUS REPORT are expected. 

	TTCN module
	RLC_AM_Testcases.ttcn 

	MCC160 Comment
	


Before:

	function fl_EUTRA_7_2_3_21_TestBody(inout RLC_SS_State p_RLC_Rec)
  runs on EUTRA_PTC
{ //@sic R5-104723 sic@ @sic RP-101255 sic@
  var integer i;
  var RLC_DataField_Type v_RLC_Data1;
  var integer v_PDCP_SDU_size := 38;
  var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;
  var RLC_DataField_Type v_SDU3_Received;
  var RLC_DataField_Type v_RLC_Data;
  var SubFrameTiming_Type v_Timing;
  var integer v_SubframeOffset;
  var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode;
  timer t_WatchDog := 5.0;
  // determine RAT to make the timing correct later on
  v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);
  // PDCP SDUs of this size will be built, appended to a PDCP header,
  // and then used as RLC SDUs
  // generate 3 RLC SDUs = PDCP PDUs
  for (i := 0; i < 3; i:= i + 1) {
    p_RLC_Rec.TxDataSize := v_PDCP_SDU_size;
    f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data
    v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12), p_RLC_Rec.RLC_Data);
    p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));
    p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);
  }
  v_RLC_Data := substr(p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3],2,(v_PDCP_SDU_size));
  v_SDU3_Received := f_PDCP_PDU_Encvalue (cs_PDCP_DataLongSN(1,v_RLC_Data));
  //@siclog "Step 0" siclog@
  // The SS ignores scheduling requests and does not allocate any uplink grant based on that.
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );
  //@siclog "Step 1" siclog@
  // SS creates 3 RLC SDUs of size 40 bytes segmented into two AMD PDUs each.
  // SS transmits AMD PDU#1 (SN=0), AMD PDU#2 (SN=1) and AMD PDU#4 (SN=3).
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1,100);
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 0, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                  tsc_P_NoPoll,
                  tsc_FI_StartOfSDU,
                  v_RLC_Data1);
  v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 20, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo(v_Timing.SFN.Number, v_SubframeOffset),
                  tsc_P_NoPoll,
                  tsc_FI_EndOfSDU,
                  v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 3;
  v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU2], 20, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo(v_Timing.SFN.Number, v_SubframeOffset),
                  tsc_P_NoPoll,
                  tsc_FI_EndOfSDU,
                  v_RLC_Data1);
  //@siclog "Step 1A" siclog@
  // 60 ms after step 1 the SS allocates 1 UL grant of default size
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                 9, 25);
  //@siclog "Step 4" siclog@
  // 90 ms after step 1 SS performs a RRC Connection Reconfiguration procedure including the
  // mobilityControlInfo IE triggering RLC-reestablishment.
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 30); // i.e. 30 ms after step 1A
  f_EUTRA_508RRC_IntraLTE_HO_IntraCell (eutra_Cell1,  // @sic R5s100430 change 2; R5s100524 sic@
                                        cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                        {cs_DRB1_ConfigAM_TM_Mode});
  //@siclog "Step 2" siclog@
  // The UE returns RLC SDU#1.
  f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU1);
  //@siclog "Step 3" siclog@
  // SS does not acknowledge the reception of RLC SDU#1.
  p_RLC_Rec.AM_VRR := 0;
  //@siclog "Step 4AA" siclog@
  // The SS starts the UL default grant transmissions.
  f_EUTRA_StartDefULGrantTransmission(eutra_Cell1, cs_TimingInfo_Now);
  //@siclog "Step 4A" siclog@
  // The UE retransmits RLC SDU #1.
  f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU1);
  //@siclog "Step 4B" siclog@
  // Send STATUS PDU upon Pollbit.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 5" siclog@
  // SS transmits AMD PDU#5 with SN=0 and the P field set to "1"
  p_RLC_Rec.AM_VTS := 0;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3], 0, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo_Now,
                  tsc_P_Poll,
                  tsc_FI_StartOfSDU,
                  v_RLC_Data1);
  //@siclog "Step 6" siclog@
  // Check: Does the UE transmit a RLC STATUS PDU?
  p_RLC_Rec.AM_VTA := 1;
  f_RxSTATUS_PDU_ACK(p_RLC_Rec);
  //@siclog "Step 7" siclog@
  // SS transmits AMD PDU#6 with SN=Receiving_AM_Window_Size+2
  p_RLC_Rec.AM_VTS := tsc_AM_Window_Size + 2;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3], 20, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo_Now,
                  tsc_P_NoPoll,
                  tsc_FI_EndOfSDU,
                  v_RLC_Data1);
  //@siclog "Step 8" siclog@
  // Check: Does UE return RLC SDU#3 within 1s?
  p_RLC_Rec.AM_VRR := 0;
  t_WatchDog.start(1.0);
  alt {
    [] DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                           cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR, tsc_P_NoPoll, {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3]} )))
      {
        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 8");
      }
    [] t_WatchDog.timeout
      {
        // UE does not return RLC SDU#3 within 1s
      }
  }; // alt
  //@siclog "Step 9" siclog@
  // SS transmits AMD PDU#6 with SN=1
  p_RLC_Rec.AM_VTS := 1;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3], 20, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo_Now,
                  tsc_P_NoPoll,
                  tsc_FI_EndOfSDU,
                  v_RLC_Data1);
  //@siclog "Step 10" siclog@
  // Check: Does UE return RLC SDU#3 with its first AMD PDU set to SN=1?
  p_RLC_Rec.AM_VRR := 1;
  DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                      cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,
                                                       tsc_P_Poll,
                                                       {v_SDU3_Received}))) ;
  p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;
  f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 10");
  //@siclog "Step 10A" siclog@
  // Send STATUS PDU upon Pollbit.
  f_TxSTATUS_PDU(p_RLC_Rec);
} // fl_EUTRA_7_2_3_21_TestBody
  


After:

	function fl_EUTRA_7_2_3_21_TestBody(inout RLC_SS_State p_RLC_Rec)
  runs on EUTRA_PTC
{ //@sic R5-104723 sic@ @sic RP-101255 sic@
  var integer i;
  var RLC_DataField_Type v_RLC_Data1;
  var integer v_PDCP_SDU_size := 38;
  var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;
  var RLC_DataField_Type v_SDU3_Received;
  var RLC_DataField_Type v_RLC_Data;
  var SubFrameTiming_Type v_Timing;
  var SubFrameTiming_Type v_Timing2;
  var integer v_SubframeOffset;
  var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode;
  var template (value) RadioBearer_Type v_DRB_Config;
  var default v_DefaultRef;
  timer t_WatchDog := 5.0;
  // determine RAT to make the timing correct later on
  v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);
  // PDCP SDUs of this size will be built, appended to a PDCP header,
  // and then used as RLC SDUs
  // generate 3 RLC SDUs = PDCP PDUs
  for (i := 0; i < 3; i:= i + 1) {
    p_RLC_Rec.TxDataSize := v_PDCP_SDU_size;
    f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data
    v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12), p_RLC_Rec.RLC_Data);
    p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));
    p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);
  }
  v_RLC_Data := substr(p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3],2,(v_PDCP_SDU_size));
  v_SDU3_Received := f_PDCP_PDU_Encvalue (cs_PDCP_DataLongSN(1,v_RLC_Data));
  //@siclog "Step 0" siclog@
  // The SS ignores scheduling requests and does not allocate any uplink grant based on that.
  f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );
  //@siclog "Step 1" siclog@
  // SS creates 3 RLC SDUs of size 40 bytes segmented into two AMD PDUs each.
  // SS transmits AMD PDU#1 (SN=0), AMD PDU#2 (SN=1) and AMD PDU#4 (SN=3).
  v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1,100);
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 0, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                  tsc_P_NoPoll,
                  tsc_FI_StartOfSDU,
                  v_RLC_Data1);
  v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 20, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo(v_Timing.SFN.Number, v_SubframeOffset),
                  tsc_P_NoPoll,
                  tsc_FI_EndOfSDU,
                  v_RLC_Data1);
  p_RLC_Rec.AM_VTS := 3;
  v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU2], 20, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo(v_Timing.SFN.Number, v_SubframeOffset),
                  tsc_P_NoPoll,
                  tsc_FI_EndOfSDU,
                  v_RLC_Data1);
  //@siclog "Step 1A" siclog@
  // 60 ms after step 1 the SS allocates 1 UL grant of default size
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 60);
  f_EUTRA_OneULGrantTransmission(eutra_Cell1,
                                 cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                 9, 25);
  //@siclog "Step 2" siclog@
  // Check: Does the UE return RLC SDU#1?
  //@siclog "Step 4AA" siclog@
  // The SS starts the UL default grant transmissions.
  v_Timing2 := f_EUTRA_TimingInfoAdd(v_Timing, 4);
  v_DefaultRef := activate ( a_RxAMD_SDU_72321 ( p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU1, v_Timing2 ) );
  //@siclog "Step 3" siclog@
  // SS does not acknowledge the reception of RLC SDU#1.
  p_RLC_Rec.AM_VRR := 0;
  //@siclog "Step 4" siclog@
  // 90 ms after step 1 SS performs a RRC Connection Reconfiguration procedure including the
  // mobilityControlInfo IE triggering RLC-reestablishment.
  v_DRB_Config := cs_DRB1_ConfigAM_TM_Mode;
  v_DRB_Config.Config.AddOrReconfigure.LogicalChannelId := tsc_DRB1 + 2;
  v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 30); // i.e. 30 ms after step 1A
  f_EUTRA_508RRC_IntraLTE_HO_IntraCell (eutra_Cell1,  // @sic R5s100430 change 2; R5s100524 sic@
                                        cs_TimingInfo(v_Timing.SFN.Number, v_Timing.Subframe.Number),
                                        {v_DRB_Config});
  deactivate(v_DefaultRef);
  //@siclog "Step 4A" siclog@
  // The UE retransmits RLC SDU #1.
  //f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU1);
  DRB.receive ( car_DRB1_RLCAmDataInd ( eutra_Cell1,
                                        cr_AMD_PDU_LIs ( p_RLC_Rec.AM_VRR,
                                                         tsc_P_Poll,
                                                         tsc_FI_FullSDU,
                                                         cr_FlexPart_1LI(2),
                                                         {f_PDCP_PDU_Encvalue(cr_PDCP_StatusRep2( int2bit(1, tsc_PDCP_SN_Size_12), omit )),
                                                          p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1]} )));
  p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;
  //@siclog "Step 4B" siclog@
  // Send STATUS PDU upon Pollbit.
  f_TxSTATUS_PDU(p_RLC_Rec);
  //@siclog "Step 5" siclog@
  // SS transmits AMD PDU#5 with SN=0 and the P field set to "1"
  p_RLC_Rec.AM_VTS := 0;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3], 0, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo_Now,
                  tsc_P_Poll,
                  tsc_FI_StartOfSDU,
                  v_RLC_Data1);
  //@siclog "Step 6" siclog@
  // Check: Does the UE transmit a RLC STATUS PDU?
  p_RLC_Rec.AM_VTA := 1;
  f_RxSTATUS_PDU_ACK(p_RLC_Rec);
  //@siclog "Step 7" siclog@
  // SS transmits AMD PDU#6 with SN=Receiving_AM_Window_Size+2
  p_RLC_Rec.AM_VTS := tsc_AM_Window_Size + 2;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3], 20, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo_Now,
                  tsc_P_NoPoll,
                  tsc_FI_EndOfSDU,
                  v_RLC_Data1);
  //@siclog "Step 8" siclog@
  // Check: Does UE return RLC SDU#3 within 1s?
  p_RLC_Rec.AM_VRR := 0;
  t_WatchDog.start(1.0);
  alt {
    [] DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                           cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR, tsc_P_NoPoll, {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3]} )))
      {
        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 8");
      }
    [] t_WatchDog.timeout
      {
        // UE does not return RLC SDU#3 within 1s
      }
  }; // alt
  //@siclog "Step 9" siclog@
  // SS transmits AMD PDU#6 with SN=1
  p_RLC_Rec.AM_VTS := 1;
  v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3], 20, 20);
  f_TxAMD_OnePDU (p_RLC_Rec,
                  cs_TimingInfo_Now,
                  tsc_P_NoPoll,
                  tsc_FI_EndOfSDU,
                  v_RLC_Data1);
  //@siclog "Step 10" siclog@
  // Check: Does UE return RLC SDU#3 with its first AMD PDU set to SN=1?
  p_RLC_Rec.AM_VRR := 1;
  DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,
                                      cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,
                                                       tsc_P_Poll,
                                                       {v_SDU3_Received}))) ;
  p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;
  f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 10");
  //@siclog "Step 10A" siclog@
  // Send STATUS PDU upon Pollbit.
  f_TxSTATUS_PDU(p_RLC_Rec);
} // fl_EUTRA_7_2_3_21_TestBody



Altstep to catch expected SDU1 prior to handover plus eventual repetitions including PDCP STATUS REPORT which may occur during handover
altstep a_RxAMD_SDU_72321 ( RLC_SS_State p_RLC_Rec,
                            B1_Type p_Poll,
                            integer p_SDU_Num,
                            SubFrameTiming_Type p_ExpectedTime )
  runs on EUTRA_PTC
{
  var DRB_COMMON_IND v_ReceivedAsp;
  []  DRB.receive ( car_DRB1_RLCAmDataInd ( eutra_Cell1,
                                            cr_AMD_PDUoneSDU ( p_RLC_Rec.AM_VRR,
                                                               p_Poll,
                                                               {p_RLC_Rec.RLC_DataList[p_SDU_Num]} ) ) ) -> value v_ReceivedAsp
      {
        if ( match( v_ReceivedAsp.Common.TimingInfo.SubFrame, p_ExpectedTime ) )
        {
          f_EUTRA_SS_CommonCellConfig(eutra_Cell1, cas_ULGrantAllocation_REQ(eutra_Cell1, cs_TimingInfo_Now, -, f_EUTRA_PUCCH_Synch_Auto(), -, tsc_NoCnfReq));
          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 2");
        }
        repeat;
      }
  []  DRB.receive ( car_DRB1_RLCAmDataInd ( eutra_Cell1,
                                            cr_AMD_PDU_LIs ( p_RLC_Rec.AM_VRR,
                                                             tsc_P_Poll,
                                                             tsc_FI_FullSDU,
                                                             cr_FlexPart_1LI(2),
                                                             {f_PDCP_PDU_Encvalue(cr_PDCP_StatusRep2( int2bit(1, tsc_PDCP_SN_Size_12), omit )),
                                                              p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1]} )))
      {
        repeat;
      }
} // a_RxAMD_SDU_72321
References
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